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HENEFY6

(PERNEZY)

() 9TX4
= (100—3) x4
— 100X4—3X4
= 400—12

- 388

2) 98X4

= (100—-2)X4
= |00X4—-2X4
400—-8

= 392

3) 102x34
= (100+2)X34

= 100X34+2X34

= 3400+683
= 3468

4) 97X8

= (100—-3)X8
= |O0OX8—3X8
= 800—24

= 776

(5) 96X

= (100—4)X7
= |00OXT7—=4X"7
= T700—28
=672

B & (

6) 103x23
= (100+3)x23

= 100X23+3%X23

= 2300+69
= 2369

7 107X6

= (100+7)X6
= |00X6+T7X6
= 600+42

= 642

(8) 98X

= (100—2)X7
= |QO0OXT7—2X7
= T700—14

= 686

@ 108x8
= (100+8)X8
= 100X8+8X%8
= 800+64

= 864

(10) 106X9

= (100+6)X9
= |00X9+6X9
900+54

= 954

ZFBET)MEHT I O— R0 YA Y365 https://www.print365.net



